RY 30 FERETFHXABER K=
(H30.7.15 fBESR/N\—20TILIB)

BFDE
g {1 fRITE HXIRES S B = g &
1 21747 AT AMXIRES 70m
2 22617 AT B IRES 60m
3 25517 AT CHIXIRE= 50)
4 25517 NI BXIRE S 40m
5 26217 AR X RE S 30R
6 27417 Bl X RE = 20m
7 27417 REEHXIREIS 10m
ZF DI
g {1 RITE HMXIRES S T = m =
1 24817 AR X HRE = 7T0R
2 26617 AT AMXIRES 60R
3 2671] AT BIMXIRES 50K
4 30311 Bl X iRE = 400
5 333% REEHXIREIS 30
P )—0D8p
g {1 RITE WXIRESS B = B =B
1 21547 AT AMXIRES 7T0R
2 26517 AREEHXIREIS 60m
3 269717 AT BIMXIRES 50R
FHDE
& {1 EineA WXIREIES T = m =3
1 32917 AT Bt XIRE S 7T0R
2 41747 AEtXIRES 60R
MERE
g {1 Yt == X Rk B 5 8 m &
1 230m AT BHIXIRES
2 200m AT ANXIRES
3 160R AEEHXIREIS
4 100/R AR X IRES
5 60m Bl X IRE S
6 50 AT CHIXIRES
7 40m NIt X R B =
Z0E 688



